mhgzs WDGP 58B

www.wachendorff-encoders.com/wdgp58b

Wachendorff Automation
IRADZ AN E RS

s TENRSF

o TR E R mESesiE R TR N A
s IOEFERTE P E S

s RAAAIFRE

o 48/NEFIRIRAE =

s EETNE

o RIRDEML

Industrie ROBUST

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -1-



https://www.wachendorff-encoders.com/wdgp58b

=
S

W8 SL O REDEs, Bt WDGP 58B

s PMTERENBETFMS, ALURHS

T | WACHENDORFF

Automation GmbH & Co. KG

IA163849E B EL

* BIPSERIAIPET, HhRrFIP65

o mEiE SRR AL 1MHzZ

o T{EEE4.75~32VDC, HRRMRHMEREE

www.wachendorff-encoders.com/wdgp58b

LISTED
IIRE HMiES: Z2TEMUFR (SIL) EARHEE
SEREABCTE/PPR 1§xX16384 PPR MTTFq4 1200 a
FEIZTRE (TM) 25a
HMSE fEE%&S (L10h) 1x10'11 revs. 20 %EREHTE F1
ShFE 8000 rpm
‘= ek 1278 % %X (DC) 0%
EEMR B —
EEIE T i
fas @58 mm A B RS FE R 4.75 VDC ~ 32 VDC: typ. 80 mA
Lottty HTL
HTL, #5 & 48
i TTL
R RER TTL, RS422 A, /R4
_ Py Ko ERER HTL < 16384 ppr: max. 600 kHz
RN Fom 1 Nem o TTL < 16384 ppr- max. 1 MHz
BiE ABN
Wiz @6 mm MREES
1% AR BN B AAO=E{RFHH1P67 k=4 max.40 mA/ @i
3RS 12 mm
AR AN 125N {RIFEBEE KRR RS R IP
3 A B R SR 120N
BEE o BH: SETiEA+UBHET)
Wiz @8 mm M SET#EAGND
Tt BA BRI ER: AAO=E{L[HIRIPE7 e
K 19 mm R .
A RAREEN 125N IS 90° +HAMMIE (FIHI8.5%)
ARV R B 120 N B =t 50 % + max.7 %
iz ©9.525 mm HHSU
o L S AAO=EAR5HIP67 ESD (DIN EN 61000-4-2): 8 kV
i 20 mm Burst (DIN EN 61000-4-4): 2 kV
WATFRARERZR 220N BFEEMC: DIN EN 61000-6-2
AR AR A 120N DIN EN 61000-6-3
Vibration: 50 m/s? (10 Hz~2000 Hz)
iz @10 mm (DIN EN 60068-2-6)
RS 20 mm Shock: 1000 m/s? (6 ms)
HWArRKAHED 220N (DIN EN 60068-2-27)
A VFRA T EHE 120 N it #%4DIN VDE 0160
TR Customs information
L 2 el RCRBRFA AR Customs tariff number: 90318020
Ediiteny 1 X 18%%331 28 %%E%%% Country of origin: Germany
1x10'11 revs. 20 %EUE LT EL
BREBTRE 8000 rpm SAESH
B8 #4220 ¢g
EE sk E R

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -2-



https://www.wachendorff-encoders.com/wdgp58b

B 472545 (EN 60529) N5 IP65, IP67; EL:i
5 1P65; RAgME-S
K1: P40

TERE FEHERS: -40°C ~ +85°C, FASNE
£ -20°C ~ +80°C

HFERE FEREES: -40°C ~ +100°C, H40E

#:-30°C ~ +80°C

EZER

ZETARSHMREH

http://www.wachendorff-encoders.com/gtd

B

http://www.wachendorff-encoders.com/acc

WACHENDORFF

Automation GmbH & Co. KG

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -3-




WACHENDORFF

Automation GmbH & Co. KG

FR40HESE L2, JE), FEgi2m

=10, M4x0.7 - 6l M3x0.5 - 6H
(3x 120°) (3x 120°)
R24
N
=}
mg-‘:l‘- +1q | ————8— =
8 ] § 8 _ij 8 T
42 20
3
D=6 11=12 d= 53 12=10
D=8 11=19 d= 75 12=15
D= 9525[387 Li=20 d= 8302 [0.327] L2=10
D=10 L11=20 d=9 12=15
sk ABN#E R [EES
L2 %A, BFR% S RiDesIN kR .
5He
L2 L2 L2 L2
g M11, M12|M13, M14| N11, N12 | N13, N14
fatk GND HE HE HE =)
IE#R (+) Vec ixfe N R ixfe
A Zf ZE Ff Zf
B HE #E #2E HE
N 3 4= RE k&
SET - B - wee
AR ae FAR<) - -
B kM 2E BE - -
N & [@ %6 £ - -
=2 EWRBE | ZREE | BREE  ZREE
Z % % %

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -4-




T | WACHENDORFF

Automation GmbH & Co. KG

FZNERE L3, 12, F452m

325
[ I
1] :
K
I R24
L1
42l T M4x0.7 - 6H
1o o o g RO 1 1 I I Y (3x 120°)
g [ e g# 3 [
L2 M3x0.5 - 6H
255 (3% 120°)
B
D=6 L1=12 d= 53 L2=10
D=8 11=19 d= 75 12=15
D= 9.525[3/8" L1=20 d= 8302[0.327 L2=10
D=10 =20 d=9 12=15
0% ABN# % A5 5
L3 7, RS miEasihciEiE N
e
L3 L3 L3 L3
528 M11, M12 M13, M14| N11, N12 | N13, N14
itk GND HeE B B HeE
IE#R (+) Vee ReE RE B3] ReE
A &R & FE &R
B =B =E =HE HE
N xE & ke xE
SET - He - we
A R E A=) qe - -
B &M 26 2E = =
N & %6 E4) - -
i ZRRE | ZREKE | BREE  ZRKE
% % % %

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -5-




WACHENDORFF

Automation GmbH & Co. KG

F4iEERE K1 (IP40) £, Fagi2m

M4x0.7 - 6H
(3x 120°)

10
15

32
61
10
L1
w©
o= (=l ©
g L gls
oS g
L2
42
3
D=6 [1=12 d= 53 12=
D=8 L1=19 d= 75 2=
D- 9525[387 L1=20  d- 830210327 L2-10
D=10 11=20 d= 9 2=

L.,F
Bt
[

15

ABN#H KR AES

K1 &0, R#&ARS RIBEEINFTER (P40)

.

HE
K1 K1 K1 K1

B PR M11, M12 M13, M14| N11, N12 | N13, N14

#14% GND AEe | AE | AB | As

IEAR (+) Vee e | Be | e | ge

A g6 | 58 | 86 | &6

B I CEE R

N "e | xe | KEe | RKe

SET - Be - Be

AR gt | e : .

B KM 26 | 26 - -

N & %6 | ze - -

e SBREE SRAL SREE SREA
% % % %

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -6-




WACHENDORFF

Automation GmbH & Co. KG

LR B SR (M12x1) SB, #h[H, 5-, 8-, 12-pin

6
10 M4x0.7 - 6H
{3x120°)
L1
e
Ba.{:r‘ 3
o i3 -—4tHt—- & -—-—
G@§& o]
.'—_2J
42 18 |
3
D=6 L1=12 d= 53 12=10
D=8 L1=19 d= 75 12=15
D= 9525[3/87 L1=20 d= 8.302[0.327 L2=10
D=10 L1=20 d= 9 L2=15
Eizipay

M3x0.5 - 6H
(3x 120°)

ABNTH R [AES

SB5  #i[f), 5-pin, RS 5 AL RRIN R ERE

SB8  Hi[, 8-pin, E iS5 MmADEISN TR

SB12 Hi[, 12-pin, FEHERE 5 RSN T IERE

2

i)

N11, N12

M11, M12

itk GND

3

1

IE#% (+) Vee

A

B

N

AN A=

Ok wiN

SET

ARIE

B&RM

N Ra

w0 N o

n.c. 28

i

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -7-




T | WACHENDORFF

Automation GmbH & Co. KG

fERkER %S (M12x1) SC, 12, 5-, 8-, 12-pin

325 ' R
6 .
1
-]
7, R24
L1
2|, M4x0.7 - 6H
e e e R R (3x 120°)
lsus§ g gﬁ §
_L_ZJ M3x0.5 - 6H
e (3% 120°)
B
D= 6 L11=12  d= 53 L2=10
D= 8 L1=19  d= 75 L2=15
D= 9525[387 Li=20 d= B8302[0.3277] L2=10
D=10 L11=20 d= 9 L2=15
vk ABN# K [A{55
SC5 &M, 5-pin, E#eS 5 mISEEINTIERE -
SC8 &M, 8-pin, Eies S mABEEINTER: .
SC12 1z[@, 12-pin, E#28 5 MEDAZINRIERE .
S
F PR N11,N12 |M11, M12 M13, M14
%k GND 3 1 3
IE#% (+) Vee 2 1
A 4 3 4
B 2 4 6
N 5 5 8
SET = = 5
A &M - 6 9
B &[G = 7 7
N & @ - 8 10
nc =8 = = 2,11,12
il - - -

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -8-




T | WACHENDORFF

Automation GmbH & Co. KG

FHRER

EOFFHIP67, X 32 10mm 4 TR
WDGP 58B#E X1 & 4w 2% Al LUR BRI IFIP6 T B S o AAO

(full IP67 only connection SB, SC, L2 or L3 version; not cable connection K1 = IP40).

BRARRIE: 3500 rpm

WAawRARAE: Fm@I100N;Zm110N

BEINE: HIRTRZA4Ncm

HAKE JTHES

rigEsWDGP S58BR] AR IHEAL 2K A, JABRSKEIRRFHEBEFME,; F5F XXX=0XK
www.wachendorff-encoders.com/atd

BEMREITTRESEMN E=NBTFRIEERENBAEKE, RUADK.

2445): 5 m B 45 = 050

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -9-




WACHENDORFF

Automation GmbH & Co. KG

TTRES 3G |BS e e
WDGP 58B | WDGP 58B WDGP 58B
ez
10 06; 08; 4= 9.525 mm,d 3/8"; 10
SEKPE/PPR:
16384 1-16384
Al ko AT A TE
EiE:
ABN ABN
I RS
S33FRPPR (£ BAEVDC  |HHEE %5&&%&%31 TTERES
BE
4,75-32 HTL # &k 48 - M11
4,75- 32 TTL, RS422 3%, # KRG - M12
4,75 - 32 HTL, #5 48 set zero pulse - M13
M13 1-16384 4,75 - 32 TTL, RS422 3£ 7R., # & 48 set zero pulse - M14
4,75- 32 HTL - N11
4,75- 32 TTL - N12
4,75 - 32 HTL set zero pulse - N13
4,75 - 32 TTL set zero pulse - N14
BSER
ik [aBN# R e [iTsms
B4 KE (Bpf2m, WDG58T: 1m)
7, RBifZA S mIEEssFTIERE (IP40) . K1
O, RS mEesN T EE . L2
71, R4S REISINTERE . L3
Lo R (BRAS RESRINTER)
2 RkERIEREE8, M12x1, 5-pin, #if) - SB5
fERkEsERERR, M12x1, 5-pin, R i SC5
RS2 %E 1298, M12x1, 8-pin, 4H[E . SB8
RS2, M12x1, 8-pin, 2[[ . SC8
RS E 22, M12x1, 12-pin, %[5 . SB12
ERREREFEES, M12x1, 12-pin, 12 . SC12
FERER
R TRES
BIRRTHIP67, {35 10mmEH AAOC
HATKE XXX=23 3K
TN =H
IT55AS3p)= [WDGP58B] 10 [16384] ABN [ M13 | L2 | | |wpapseB| | | | | [ R SR ESE |

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -10-




T | WACHENDORFF

Automation GmbH & Co. KG

For further information please contact our local distributor.

rll' WACHENDORFF Here you find a list of our distributors worldwide.

Automation GmbH & Co. K& https://www.wachendorff-encoders.com/contact-sales-cn/

Authorized Distributor

T | WACHENDORFF

Wachendorff Automation GmbH & Co. KG
Industriestrasse 7 ¢ 65366 Geisenheim
Germany

% +49 67 22 /99 65 25
E-Mail: wdg@wachendorff.de
www.wachendorff-automation.de

WDGP 58B Errors and modifications reserved. © Wachendorff Automation GmbH & Co. KG 26.04.2024 -11-




